Határozd meg és jellemezd az alábbi sorozatokat:
a, 14, 10, 6, 2,…
b, 2, 5, 14, ,…
c, 3, 12, 48,…
a7 = ……
a7 = ……
a7 = ……
képlettel:
képlettel:
képlettel:
rekurzív módon:
rekurzív módon:
rekurzív módon:

monotonitása:
monotonitása:
monotonitása:

korlátossága:
korlátossága:
korlátossága:

d, an = (–3)n
e, an+1 = an + 5
a7 = ……
a1 = 8

a7 = ……
rekurzív módon:
képlettel:
monotonitása:
monotonitása:
korlátossága:
korlátossága:

































































































































